
 
 

 

 

 

 

 

Fitting 

Instructions 

 
TOWBAR 

For NISSAN MICRA  (K12) 

 

 

DT118A 

MATERIALS 
A 1 Cross Bar  
D 1 Left hand side plate 
E 1 Right hand side plate 
F 1 Neck Assembly 
G 1 Right hand angle cleat 
H 1 Left hand chassis insert 
J 1 Captive Nut Strap (160mm ctrs) 
K 1 Captive Nut Strap (176.5mm ctrs) 
L 8 M10 x 35 x 1.5 Bolts, Lock Washers and 6 Flat Washers (25mm O.D.) 
M 2 M12 x 35 x 1.75 Bolts, Nuts, Lock Washers and 2 Flat Washers (25mm O.D.) 
N 4 M12 x 35 x 1.75 Bolts, Lock Washers, 3 Flat Washers (25mm O.D.) & 2 Nuts 
P 4 M12 x 35 X 1.75 Bolts & Serrated Flange Nuts 
Q 2 M16 x 50 X 2.0 Bolts, Lock Washers & Nuts 
EP 1 Electrical Plate 

FITTING 

1. Remove bumper (clips along lower edge, 1 tip screw, 1 screw behind light cluster (light cluster must be removed). 
Remove chassis end cones to allow access to chassis openings, insert Captive Nut Straps (J) and (K) into chassis 
and loosely attach Side Plate (E) and Angle Cleat (G) using Bolts (L) and (M) with Flat Washers fitted as shown. 

2. Lower exhaust. Position Chassis Insert (H) inside chassis and loosely attach Side Plate (D) using Bolts (L), push Side 
Plate (D) up against exhaust heat shield and using a suitable pen mark around forward edge of Side Plate (D) to show 
where heat shield requires cutting. Remove Side Plate (D) and heat shield, cut along the line, refit heat shield. 

3. Loosely attach Chassis Insert (H) and Side Plate (D) to chassis using Bolts (L) with Flat Washers fitted as shown. Refit 
chassis end cones and refit bumper. 

4. Loosely attach Cross Bar (A) to Side Plates (D) and (E) using Bolts (N) with Flat Washer fitted as shown. Tighten Bolts 
(L) first then (M) and finally Bolts (N). 

5. Fit Neck (F) and Electrical Plate (EP) using Bolts (P), fully tighten bolts. 

6. Fit Tow Ball using Bolts (Q).  Fully tighten bolts. 

Please refer to the vehicle specification for the trailer weight and nose limits, which must be observed. 

Recommended torque settings: M8 - 27Nm, M10 - 53 Nm, M12 - 95 Nm, M14 - 150 Nm, M16 - 214 Nm 

 

 
WITTER TOWBARS Deeside Ind. Park, Deeside, CH5 2NY                  www.witter-towbars.co.uk Issue 1 

                                                      

µW0001DT118A-FIT$011304100000)Ä
W0001DT118A-FIT$011304100000  


